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Answer any two of the following : [2x5]

a)
b)

c)

d)

What is paradox of material implication? Briefly explain with example.
What is law of identity? Explain in brief, with example.

Determine the following statement forms whether it is tautology, self-contradictory or contingent
by truth table method. (2.5+2.5)

) [P=(a=r)]=[(pa)>r]
i) (po>~r)>(~a.~p)
Determine the validity of the following arguments by truth table method. (2.5+2.5)

i) (p>q).(q>r)
~pv~q/..~qur

i) (p=a)[(pa)>r]
Po(~q~r)/..p>r

Answer any one of the following : [1x15]

A) a) Determine by the truth table method whether the following forms of propositions are

tautologous, self-contradictory or contingent. (any two) : (2x2)
) (~pva).~[~pv(pa)]

i) {[(p2a).(ros)](pvr)}o(avs)
i) [pv(ar)]=[(pva)(pvr)]

(3)



b) Test the validity of the following arguments by the truth table method. (any two) : (2x3)

i) (P DQ).(R DS)
PvR/..QvS
i) (Ov P) =l0)
Q> (O.P)/ (Ov P) ) (O.P)
iii) (PQ)>(RS)/..(PQ)>[(PQ).(RS)]
c) Isit possible to have a valid substitution instance from an invalid argument from? Explain
with an example. 5)
B) a) Determine the truth value of the following by the method of full sweep. (any one): (1x2)

1) [(u :)V).(S Dt):l :>(~Svt)
i) [(g>r).~r|>~q

b) Test the validity of the following arguments by the method of resolution. (2.5+2.5)
) Po (q - r)
qo(ros)/..p>(q>s)
i) poqg

gor/..por

c)  Determine by the fell swoop method whether the following schema implies each other’s.

(any one): (1x3)
) (~p.~a)>(qvr)
i) ~p>p
d)  Give definition and example of valid schema and consistent schema following Quine. (5)
Unit - 11
3) Answer any two of the following : [2x5]

a) Distinguish, with example, between rule of inference and rule of replacement.

b) ‘If premises of an argument are inconsistent then the argument must be valid’. - Explain with
example.

c) Explain the necessity of the theory of quantifier. Classify different types of quantifier, with
example.

d) Isthe method of deduction better than the method of truth table? Give reason for your answer.

Answer any one from the following questions 4 and 5 : [1x15]
4) a) i) Whatis meant by anormal form? 2
i) Give normal form of the following : 1)

~ (3X) (G, ~ H,)

iii) Construct formal proof of validity for the following arguments (any three): (4x3)
i) (USV).(WoX)/ -~ (UvW)s(VvX)
i) A=~A/..B>(CvD)

iii) Rabindranath is a poet. Therefore, everything is beautiful or not beautiful.
iIv) Gold is valuable. Ring is ornament. Therefore, golden ring is valuable ornament.
(4)



5) a) Symbolize the following using quantifier, variable etc. (any four): (1x4)
i) Descartes is a philosopher but not a poet.
i) Apple and bananas are delicious and nutritious.
iii) All teachers are not meritorious who are famous.
iv) Some foods are eatable if they are cooked.
v) No car is safe unless it has good brakes.
b) Prove the invalidity of the following arguments by the method of truth value assignments (any

three): (3x3)
) W=(XvY)
X=(YVvW)
Y=(WvX)
~W.~ X
X VvY
i) (O\/ P) =10)
Q> (P v R)
O>(~S>P)
(S>0)>~R
L P=Q
iii) (3x)(Dx.Px)
(3x)(Dx.Sx)
=~ (3x)(Px.Sx)
iv) If anything is metallic than it is breakable. There are breakable ornaments. Therefore, there
are metallic ornaments.
c) Write, with example, the rule of UG. 2

(5)



